Calcular Porcientos (E)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de $3,043.00 es
$152.15?

- ¢Qué porciento de $2,360.00 es
$786.67?

- ¢Qué porciento de $6,396.00 es
$1,279.20?

- ¢Qué porciento de $2,206.00 es
$220.60?

- ;Qué porciento de $9,559.00 es
$2,389.75?

10.

. ¢Qué porciento de $4,335.00 es

$2,890.007

;Qué porciento de $6,756.00 es
$337.80?

- ¢Qué porciento de $4,232.00 es

$634.807

;Qué porciento de $5,139.00 es
$770.85?

;Qué porciento de $1,461.00 es
$219.15?
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Calcular Porcientos (E) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de $3,043.00 es
$152.15?
5%

- ¢Qué porciento de $2,360.00 es
$786.67?
33%%

- ¢Qué porciento de $6,396.00 es
$1,279.20?
20%

- ¢Qué porciento de $2,206.00 es
$220.60?
10%

- ;Qué porciento de $9,559.00 es
$2,389.75?
25%

10.

. ¢Qué porciento de $4,335.00 es

$2,890.007
66%3%

;Qué porciento de $6,756.00 es
$337.80?
5%

- ¢Qué porciento de $4,232.00 es

$634.807
15%

;Qué porciento de $5,139.00 es
$770.85?
15%

;Qué porciento de $1,461.00 es
$219.15?
15%
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